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General Instructions :

Read the following instructions carefully and follow them :

()
(ii)
(iii)
(v)
v)
vi)
(vii)

(viii)

(ix)
)

This question paper contains 38 questions. All questions are compulsory.

This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Question numbers 1 to 18 are multiple choice questions (MCQs) and
question numbers 19 and 20 are Assertion — Reason based questions of 1 mark each.
In Section B, Question numbers 21 to 25 are very short answer (VSA) type questions,
carrying 2 marks each.

In Section C, Question numbers 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Question numbers 32 to 35 are long answer (LA) type questions
carrying § marks each.

In Section E, Question numbers 36 to 38 are case—study based integrated questions
carrying 4 marks each. Internal choice is provided in 2 marks question in each
case-study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions of 2 marks in Section E.

22
Draw neat diagrams wherever required. Take m= - wherever required, if not stated.

Use of calculators is NOT allowed.
SECTION - A 20x1 =20

This section consists of 20 questions of 1 mark each.

1.

If the sum of zeroes of the polynomial p(x)=2x% — kN2x+1is V2,

then value of k is : 1
(@) V2 (b) 2 © 242 @ 5
If the probability of a player winning a game is 0.79, then the
probability of his losing the same game is : 1
(a 1.79 (b) 0.31 (c) 0.21% (d) 0.21
If the roots of equation ax” + bx + ¢ = 0, a # 0 are real and equal, then
which of the following relation is true ? 1
(a) a—ﬁ (b) b =ac (c) ac—ﬁ (d) c—ﬁ

c 4 a
In an A.P., if the first term a = 7, nth term a,, = 84 and the sum of first
n terms s,, = — then 7 is equal to : 1
(a) 22 (b) 24 (c) 23 (d) 26
If two positive integers p and ¢ can be expressed as p = 18 ¢’b" and
g =20 a’b*, where a and b are prime numbers, then LCM (p, ¢) is : 1
(a) 2d°b* (b) 1804°b*  (c) 12 4%b* (d) 180 a’b*
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11.

12.

13.

14.

15.

2
farE¢

s ABC & 3fid A(5, — 6), B(6, 4) @& C(0, 0) € a1 AD s 1
HTfeeR 2 1 AD o @eTs § -

(a) 68 FHE  (b) 2415 sHE  (c) 101 s (d) 10 3T

Ifd secO—tan O=m 2, dl secO +tan O I HH 2 :

(@) 1-% ®) -1 (o) % (d) —m

stteret 1,4,7,9, 16,21, 25 § & a2 ot v deard e € 7% &, @ o
H Ao Uk ITST HE&AT AT hi TR &

2 1 1 2
(a) 3 (b) 3 (© 7 (d) 7
gl STihsl x|, X0, ...... X, &S, o v [ SPE: 3T ARIRATE &,
%Qifi(xi—)_cjaﬂm%:

1

(@) nx () 1 © 2fi (d) 0
afe sgue & + px + ¢ T IIH, TgIE 4y — Sx — 6 % YR H gH &
SR &, Al p I AME E

5 5

@ -3 b) 5 () =5 (d) 10
Ife fogadi (3, —5) q (x, —S5) F A=A R T 15 TFE 8, d x o AH 7
(a) 12,—-18 (b)) —-12,18 (c) 18,5 (d -9,-12
ﬂﬁcos(ocﬁ-[}):()%,ﬁcos(azﬁjWqﬂ%:

1 1
@ - ® 5 (©) 0 (@ V2
T 3 T I G SN § HET TN TH WA ok JEI &R R aHl
AL o T IEIT &R § STU ®
(a) 1:1 (b)y 1:4 (c) 2:3 (d) 3:2
Tk Y ok 3TThSl ohl hH § STIEId i W Hod i< 1 J&I07 BT 2 -
(a) wETH (b) uIEH (c) Ared (d) fomrem

YT 2 cm 9T Uk 319 U9 8 Hieeht fehiel 1 T et SAfehad 3T o
¥ 1 ATIT 7

(a) % cucm (b) STTC cucm (c) 8771 cucm (d) 2%[ cucm

C3ABD/1/31



10.

11.

12.

13.

14.

15.

3
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AD is a median of AABC with vertices A(S, — 6), B(6, 4) and C(0, 0).
Length AD is equal to :

(a) /68 units (b) 215 units (c) /101 units (d) 10 units

If sec © — tan O = m, then the value of sec O +tan O is :

1 2 1
@ 1— O -l © o (@ —m
From the data 1, 4, 7, 9, 16, 21, 25, if all the even numbers are

removed, then the probability of getting at random a prime number
from the remaining is :

2 1 | 2
(2) 3 (b) 3 () 7 (d) 7
For some data x;, x, ...... x, with respective frequencies fi, f, ..... s

n -
the value of )’ f; (x,- —x) is equal to :
1

(a) nx (b) 1 ©) 2f; (d) 0
The zeroes of a polynomial x* + px + ¢ are twice the zeroes of the
polynomial 4x”— 5x — 6. The value of p is :

@ -3 0 3 © -5 (@ 10

If the distance between the points (3, — 5) and (x, — 5) is 15 units, then
the values of x are :

(a) 12,-18 (b) —12,18 (c) 18,5 (d —-9,-12
If cos (o + B) = 0, then value of cos(a ; B j is equal to :

1 1
@ - ® 5 (©) 0 (@ V2

A solid sphere is cut into two hemispheres. The ratio of the surface
areas of sphere to that of two hemispheres taken together, is :

(a 1:1 (b) 1:4 (c) 2:3 (d) 3:2
The middle most observation of every data arranged in order is called :
(a) mode (b) median (c) mean (d) deviation

The volume of the largest right circular cone that can be carved out
from a solid cube of edge 2 cm is :

47 Sn
(a) = cucm (b) KR

8% cucm (d) 2n cucm

cucm (c) 3
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16. Two dice are rolled together. The probability of getting sum of

numbers on the two dice as 2, 3 or 5, 1s :
7 11 5 4
@ 3¢ b) 3¢ © 3¢ @ 35
17. The centre of a circle is at (2, 0). If one end of a diameter is at (6, 0),
then the other end is at :
(@) (0,0) (b) (4,0) (¢) (=2,0) (d) (=6,0)
18. In the given figure, graphs of two linear equations are
shown. The pair of these linear equations is : v
(a) consistent with unique solution.
(b) consistent with infinitely many solutions.
(c) inconsistent. < o -~ ,
X! X
(d) inconsistent but can be made consistent
by extending these lines. v!

Directions :

In Q. No. 19 and 20 a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the correct option.

(a) Both, Assertion (A) and Reason (R) are true and Reason (R) is
correct explanation of Assertion (A).

(b) Both, Assertion (A) and Reason (R) are true but Reason (R) is
not correct explanation for Assertion (A).

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

19. Assertion (A) : The tangents drawn at the end points of a diameter
of a circle, are parallel.

Reason (R):  Diameter of a circle is the longest chord.

20. Assertion (A) : If the graph of a polynomial touches x-axis at only
one point, then the polynomial cannot be a quadratic
polynomial.

Reason (R): A polynomial of degree n(n >1) can have at most n
zeroes.

C3ABD/1/31 P.T.O.
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21.

22,

23.

24.

25.

=1 e et fem =1 2 71 I
Tx—2y=5dM 8+ Ty =15 3 399 I k! Hoafud hifg |
T B! THR F Bl g 52 Ui hl A K T H H AGTSA TH U
FrepTett T | Ffe T8 T I WO O R, Al 39 ST W@ I Ul § 9§
T T AGTSAT R T $H 9 % UM Rl SH ATl R ST
TTRreRar T I |
(A) TH I HIRTC : 24/2 cos 45° sin 30° + 2+/3 cos 30°

Srera
(B) afg A=60°gaem B=230°%, af Tcamiua hifoe o -

sin (A + B) =sin A cos B+ cos A sin B

@ W e 4, ABCD uwF g+ ® b
fSrem faerut BD, s101 B @@ 6101 D <Rl

TufgfIa s 2 |

fag Hifw -

(i) AABD ~ ACBD
(i) AB=BC

(A) fig FR¥T fF 523 = afde gen & 9« 3= e 2 & 3
i HeT B |

A B

AT
(B) =wise fok @@ 5x11x17+3x11 U WIsT G&A1 (T00 98&) 7 |

Qus - T

TATUS H 6 T 2 T8 Uciieh o 3 37k 2 |

26.

(A) & g T Hife fe fag @yj fagatt (1, 2) 7o (2, 3) #
firem atel T@rEve w6 faurfera e 21y 1 9 ot 3 i

AT
(B) fig A (-1, 1), B (-1, 6), C (3, 6) @1 D (3, —1) T% m¥a
ABCD sAm 8| afe P, Q, R @ S saw: yanefi AB, BC, CD @en
DA & 7ex fog § a1 fag HifSe & =qdsr PQRS & fospof we-gmr
T TGS L 2 |
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SECTION - B

This section consists of 5 questions of 2 marks each.

21.

22,

23.

24.

25.

Solve the following system of linear equations
Tx —2y =15 and 8x + 7y =15 and verify your answer.

In a pack of 52 playing cards one card is lost. From the remaining
cards, a card is drawn at random. Find the probability that the drawn
card is queen of heart, if the lost card is a black card.

(A) Evaluate : 2+/2 cos 45° sin 30° + 24/3 cos 30°
OR
(B) If A=60°and B =30° verify that :
sin (A +B)=sin A cos B+ cos A sin B

In the given figure, ABCD is a quadrilateral. C
Diagonal BD bisects /B and ZD both. b

Prove that :

(i) AABD ~ ACBD

(i) AB=BC A B

(A) Prove that 5 —2+/3 is an irrational number. It is given that NE)
is an irrational number.

OR

(B) Show that the number 5x11x17+3%11 is a composite number.
SECTION - C

This section consists of 6 questions of 3 marks each.

26.

(A) Find the ratio in which the point (% yj divides the line

segment joining the points (1, 2) and (2, 3). Also, find the value
of y.
OR
(B) ABCD is a rectangle formed by the points A (-1, -1), B (-1, 6),
C (3,6)and D (3, —-1). P, Q, R and S are mid—points of sides
AB, BC, CD and DA respectively. Show that diagonals of the
quadrilateral PQRS bisect each other.

C3ABD/1/31
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tan O cot0
. : =1+
28. fug i = cot® + —tan6 1 + secO cosecO

29. @ a9 ugd, W di oy T hit oy K A TR off | g A uvenq
61 AT T hT Y H g @ S | 3 G R SAHE I 1 HINT |
30. (A) @ TS ARG H, AB g9 1 FH 7 A
O 3d =1 g 21 AQ, BP @1 PQ 31
W i TE TRl d | g i
ZPOQ=90° 2| <

AU
(B) T =gdst ABCD & 3iad ta 8 auft forsam aren

S B
gd 39 YR T ™ 6 P, Q, R, S Tl 63 %, /
S s i quiar w1 ¥ A AD L DC 2@ Pt -0
BC = 30 &t 3k BS = 24 &t & @ DC 4 K R
1 (-2 C

TS 1 SHITT | D

31. 14 ot 9 U dOgd WEd S oSl 99 1= Beened w1 si|
1 Bt B A2 3@ e 1 S H ot arg o SEad 176 S R, o1 gEeh
ST aUT 3= A ma il |
T uE - |
TATUSH 4 T97 2 0 Tk o 5 3R 2 |
32. = 21 9l ATl 99 T TH @9 hg W 60° HT IV HARd wAT 2 | T4
Hifu
(i) =T s |
(il) a SfET g SE1C ¢ Y JT@Ue 1 &% |
33. (A) UH 9O UG (AP.) % YUYW qUT ATSd UG K MRS 32 B AAT
TUH%RA 60 7 | 39 ! T IUW UG AT AT [Td T | 39 J;
gom| 20 gl w1 A off 71d ifSw |
roan
(B) 40 USi I TH THIGK I & TUW 9 UG ! ANHA 153 B qUT IHk
el : el 1 AT 687 B | 39 AT HT YUYW UG qYUT AT T
HIT | 37 9 & Tt uel 1 I oft 7T il
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27. In a teachers' workshop, the number of teachers teaching French,
Hindi and English are 48, 80 and 144 respectively. Find the minimum
number of rooms required if in each room the same number of
teachers are seated and all of them are of the same subject. 3

28. Prove that : tand + cotd =1+ secO cosecO 3
1—cotO 1—tan©

29. Three years ago, Rashmi was thrice as old as Nazma. Ten years later,
Rashmi will be twice as old as Nazma. How old are Rashmi and
Nazma now ? 3

30. (A) In the given figure, AB is a diameter
of the circle with centre O. AQ, BP
and PQ are tangents to the circle.

Prove that ZPOQ = 90°. “ 3
OR
(B) A circle with centre O and radius 8 cm
is inscribed in a quadrilateral ABCD
in which P, Q, R, S are the points of
contact as shown. If AD s
perpendicular to DC, BC = 30 cm and R
BS =24 cm, then find the length DC. Do Q C 3
31. The difference between the outer and inner radii of a hollow right
circular cylinder of length 14 cm is 1 cm. If the volume of the metal
used in making the cylinder is 176 cm’, find the outer and inner radii
of the cylinder. 3

SECTION -D
This section consists of 4 questions of S marks each.
32. An arc of a circle of radius 21 ¢cm subtends an angle of 60° at the
centre. Find : S
(1) the length of the arc.
(i) the area of the minor segment of the circle made by the
corresponding chord.
33. (A) The sum of first and eighth terms of an A.P. is 32 and their
product is 60. Find the first term and common difference of the
A.P. Hence, also find the sum of its first 20 terms. 5
OR
(B) In an A.P. of 40 terms, the sum of first 9 terms is 153 and the
sum of last 6 terms is 687. Determine the first term and

common difference of A.P. Also, find the sum of all the terms
of the A.P. 5

C3ABD/1/31 Page 11 P.T.O.
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0T 45° 2| HAR A S=rg aun fog P AR % g @ gt I A
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34. (A) If a line is drawn parallel to one side of a triangle to intersect
the other two sides in distinct points, then prove that the other
two sides are divided in the same ratio. 5
OR R
(B) In the given figure PA, QB and RC

are each perpendicular to AC. If

P
AP =x, BQ =y and CR = z, then Q -
X
1 1 1 Y
prove that < o= 5 i B e 5

35. A pole 6m high is fixed on the top of a tower. The angle of elevation
of the top of the pole observed from a point P on the ground is 60°
and the angle of depression of the point P from the top of the tower is
45°. Find the height of the tower and the distance of point P from the

foot of the tower. (Use V3= 1.73) 5
SECTION - E

This section consists of 3 Case-Study Based Questions of 4 marks each.
36. A rectangular floor area can be
completely tiled with 200 square
tiles. If the side length of each tile is
increased by 1 unit, it would take
only 128 tiles to cover the floor.
(1) Assuming the original length of
cach side of a tile be x units,
make a quadratic equation from

the above information. 1
(1) Write the corresponding quadratic equation in standard form. 1
(iii)) (a) Find the value of x, the length of side of a tile by
factorisation. 2
OR
(b) Solve the quadratic equation for x, using quadratic formula. 2

37. BINGO is game of chance.
The host has 75 balls
numbered 1 through 75. Each
player has a BINGO card with
some numbers written on it.
The participant cancels the number on the card when called out a
number written on the ball selected at random. Whosoever cancels all
the numbers on his/her card, says BINGO and wins the game.

C3ABD/1/31 Page 13 P.T.O.
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(i) & ugelt g frepelt 78 off 3U THY UH WW TEA & oW HI RN
TR oft ?
(iii) (a) Teu T TSl o1 ATET TG HINT |
arore

(b) Teu U sAfergi I FgeTh A1 HIT |

38. TH wod & fi® 1 fEEn s By ABC & R #1 g @R @ B
TEH 2| AB = 7 Hi. a1 BC = 15 #. ¥ | 3% g Th IR GET 3
YRR @il TR TR 78 y=medi AC, BC @9 AB &1 38 P, Q dor R WX &qsf
AT 2 qAT AP =x . 21

A A
7m p P
R
\_°
"B 0O C

«— |S5m —

ITIE MR o AR T 7 Y941 & I AT
(i) x % 9 #§ AR sl @eE Td It |
(i) =gds BQOR for@ Tepr o1 =gyl 27
(iii) (a) PC < T x & Ui H 1 hIf 3R x 1 TH 71 B |
AT
(b) x = AW 1 i 3R I H B2 - &1 7 14 Fifw |
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The table given below, shows the data of one such game where
48 balls were used before Tara said 'BINGO'.

Numbers announced Number of times
0-15 8
15-30 9
30-45 10
45-60 12
60-75 9

Based on the above information, answer the following :
(1)  Write the median class.

(1)) When first ball was picked up, what was the probability of
calling out an even number ?

(iii) (a) Find median of the given data.
OR
(b) Find mode of the given data.

A backyard is in the shape of a triangle ABC with right angle at B.
AB =7 m and BC = 15 m. A circular pit was dug inside it such that it
touches the walls AC, BC and AB at P, Q and R respectively such
that AP =x m.

A A
7m p P
R
\_°
B Q C

+«— [5m —

Based on the above information, answer the following questions :
(1) Find the length of AR in terms of x.
(i) Write the type of quadrilateral BQOR.

(i11) (a) Find the length PC in terms of x and hence find the value

of x.
OR
(b) Find x and hence find the radius r of circle.
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